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Erratum: Murray (1994)

BERTRAM G. MURRAY, JR.!
Department of Biological Sciences, Rutgers University, Piscataway, New Jersey 08855, USA

Equation 7 on page 809 in Murray (1994) would
make more sense and be easier to use if it were writ-
ten:
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wherei =1, 2, ..., n, s is the probability that any

! E-mail: bmurray @rci.rutgers.edu

young successfully leaves a nest of brood i, f is the
day on which the first young leaves the nest, and 4,
is the daily probability of survivorship of nest con-
tents. Also, throughout the text, I confused the indices
n and i. Except in equation 5, s, c,, and k, should read
s, ¢, and k, respectively.
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